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Note :— Question No. 1 and 2 of Part A are compulsory.

Attempt one question from each part thereafter.

UM 3 & 99w | a9 2 e € e SR
YdF WM 9 Ueh WY BA Hitod |

Part-A
(HI-37)
I. Choose the correct alternative.
Tel famew gfa
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is determined
Total taxable income of a person

(1) o
on the basis of his :

(n) Residential status in India

(b) Citizenship in India

(c) None of the above

(d) Both of the above

wF oIf # He A0 9@ & A e B
YR W & SN T

(1) 9Ra A g=t Famdtg fegfa

(4) ¥Ra # Arfehan

(W) <Ml 4 § =

() wwfE A

(1)  Amount of transport allowance exempt from tax

in case of normal employee is :

(a) T 1,000 per month

(b) T 800 per month

(c) 10% of salary

(d) T 1,600 per month
>-131 (2)



T wHE & fore v fee g TS
F-TH T ?
(31) T 1,000 gfere (&) R 800 WiHE
(|) a1 =1 10% (ﬁ} % 1,600 wfqmE
(ifi) Medical allowance received by an employee 1S :
(a) Fully taxable (b) Fully exempt
(¢) Partly taxable (d) None of these
Hou w1 ww e oren fafwen ww wW
(31) [ e HEa
(F) T TE& FEH
(@) ifyss €9 W HEE
(7) Swgw # | W
(iv) Income from house property is exempted for :

(a) Local authorty (b) Political party

(¢) Trade union (d All of these
T Gu @ o T & fau w0 €
(1) THE | (&) TefaR TR
(@) =R §Y () 3 =
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from a self-occupied residential

] loss
)  Maximuim >
v an individual assessee can

house property that

show :
(@ ¥ 30,000 ® T 50,000
c) < 2.,00,000 (d) No limit

i & @ B g T @ @ A F EA A

wfuaq wft fre & §Fdt ©

(31) T 30,000 (&) ¥ 50,000

(@) T200000 (%) i
(vi) Deemed profits are : |

(a) Fully exempted

(b) Partially exempted

(c) Fully taxable

(d) None of the above

N T A e E

(31) [ & H

(7) ofIr%s &9 V¥ FTqe

(F) @ o ww@g
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(vii) Securities (Shares) held for less than 12 months #

are :
(a) Long-term capital asset
() Short-term capital asset
(¢) Exempted capital asset
(d) None of the above
12 918 ¥ w8 @ g whayfel (sm) ¥ o
(31) e et g
(q) Ao st wufd
(W) R Ieit wu
(7) 3w & ¥ #ig

(viii) Types of capital gains are :

(a) 2 () 1
) 4 @ 3
i o fre FER @ W T
(31) 2 G
(9) 4 () 3
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(ix) The aggregd
during the

if it :

(a)
(b)

(c) -

(d)

(e value of monetary gifts received

previous year is exempted from tax

exceeds T 30,000

exceeds ¥ 50,000
is less than ¥ 1,00,000

does not exceed T 50,000

T o SR § el e U O e AR

a8 :

(31) T 30,000 & fyeF @
(/) T 50,000 ¥ e &
(|) T 1,00,000 & %9 &
() T 50,000 & atfyss 5 &

(x) Non-agricultural income is :

(a)

Dairy income

(b) . Fishery

(¢) Mining

(d)
MC-131

All of the above
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frm -fa ama ¥ ¢

(1) = = | I

(9) #Hacl UeH 9 3

(|) @™ 9 IM™

(g) 3= @t 10x1=10

Give short answers (in about 50 words each) :
dfara I ey (WEE T 50 ¥)
(i) What is Pre-construction period ?
THM St G9R B QA Yd & HE % ?
(i) What is a short-term capital gain ?
SICIHICH sl T a0 %3
(iii)) Who is deemed assessee ?
WAl g e QM9 RN WHed € ?
(iv) What can be the residential status of an
individual ?
wh wf @t Ferde fof sh-sed @ 2
(v) Distinguish between recognised and unrecognised
provident fund. | |

Tifor 3R eTyHIfE Wfade wUe H SRR TR
HifeTU | 5%4=20
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Part-B
(HT-) I1x10=10 |

3. Define Assessment Year. What are the different

i ' ia ?
components of income tax law in India ?

4. Compute the ‘total income of Mr. Abbas for the

assessment year 2018-19, if he is : A
(a) Non-resident in India
(b) Resident and ordinarily resident

(¢) Resident but not ordinarily resident

Particulars 4

(i)  Profits from profession in Pune received |
in Singapore 70,000 |

(i) Income from house property in Australia
~ received in India 1,45,500

(i) Income from business in Singapore

controlled from India 85,000
MC-131 j (8)



(iv) Income from agriculture in Nepal
received in India 30,000
(v) Dividends received from a foreign
company 62,000
(vi) Pension received abroad for services
rendered in India . 65,000
(vii) Technical fees received outside India
from a foreign company for technical

services provided for a project in

Hong Kong 1,25,000

(viii) Past untaxed profits brought to India 20,000

% fayftor 96 2018-19 & fau 4t s/ &1 a1 314
Fd e Afe e .

(&) HAfEmE
(7) Turo fandt 2
(|) sroare fa €
MC-131 (9) Turn Over




e 4
(i) gﬁrﬁﬂaﬁﬂﬁwﬁwvﬁm
ge 70,000
(ii) aﬂ'@!ﬁmﬁﬁﬂawﬁﬁﬁm,
S 9Rd # WD &8 - | 1,45,500

i) wRa ¥ Frifa fAmR =EEE | 85,000

v) Y@ § et @ @@ S wRa § W g2 | 30,000
(v) et woft | W =i 62,000
(vi) 9 & dard wem wW & o fRw H |
qrE UeE 65,000
(vii) BT-HI G9Ee & fau dedie derd
TeF H1 W fae wudt ® WRaG 9@
TR o R wE 1,25,000
(viii) Yehter 1 fo1 T o @9 9Rd H
GIEIE 20,000
Part-C
(ArT-C) 1x10=10
5. What are Allowances ? Discuss the fully exempt
allowances.
oo W FE Y ® 7 qolaw U W @ faaee
HIfSTT |

MC-131 (10)



6. The particulars of Mrs. Sonam’s income :
(i) Salary ¥ 2,14,000 per annum
(i) Dearness allowance (under the terms of

employment) ¥ 72,000 per annum

(iii) Education allowance (For three children) ¥ 5,200
per annum

(iv) Medical allowance (actual expenditure ¥ 8,000)
< 9,000 per annum

(v) The company spent ¥ 4,000 on her refresher

course

(vi) The contribution to R.P.F. ¥ 28,000 and
employer’s contribution ¥ 26,000

(vi1) Professional tax ¥ 1,000 paid by Mrs. Sonam

(viii) Rent free house (in a city with population 15
lakh) for which the company paid ¥ 4,000 per
month as rent. The house is furnished and the

rent of the furniture is ¥ 1,500 per month

Compute taxable “Income from Salary” for the

assessment year 2018-19.

MC-131 (11) " Turn Over



aﬁﬂﬁ?ﬂﬂﬂﬂ-ﬁﬂﬁﬁﬁﬂﬂﬁﬁf%:

G) Aa T 2,14,000 AfHH

Gy wEE s (Fa vl & ) T 72,000 AHF

Giiy foear w1 (3 === & feQ) T 5,200 afs

Gy) fafFen w1 (anafas =29 ¥ 8,000) ¥ 9,000

(v) FT ® g e FRYR B W = T 4,000

(vi) vaiftrd Wfadz wve # e swEE T 28,000
3R frden &1 SivRE T 26,000

(vii) sftmet |@F® T 1,000 1 gfd T (FFEE HI)
THE T

(viii) foFTRn TE WEE (YR @ SEEEen 15 @)
fows faw &t ¥ T 4,000 wfemre frman feam

TR gafd § AR weeR #1fRTE 21,500
yioAE ¥

w1 fayiton =9 2018-19 & fau 3 A w9y oy

F TUAT HitAT |
MC-131 (12)



Part-D
. (¥MT-8) 1x10=10

I. Mr. Vikas is the owner of a two storied house in
Jalandhar. He has let-out ground floor on a monthly
rent of ¥ 8,000. The first floor, identical in all
respect with the ground floor was let-out at a rent of
T 6,000 p.m. till 31.10.2017 and then at a rent of
< 8,000 p.m. Details of expenses during the year
ending 31.3.2018 in respect of the house were as

under :
(1) Cost of repairing ground floor T 5,000
(i) Cost of repairing first floor < 10,000

(iii) Interest on loan taken for

construction of first floor < 25,000
(iv) Municipal taxes paid by owner < 8,000
(v) Monthly salary of an employee

for collection rent T 1,000

Compute income from house property for the

assessment year 2018-19.

NC-131 (13) Turn Over



fig. fampr@ SIeiER H <) Afwen g % Aifdw &1 SEA
TR YA H T 8,000 Hifgw fRUA W ISl qed!
e S @t FER @ URvE Wik & 99 ¥,
Z 6,000 wfeme & fHd W 31.10.2017 @ fRd o
ISR 991 TS 9] T 8,000 yferAre ® fHUA W T3
THH &k "Wey # 31.3.2018 H FHIG FW A q9 @
fau =@ #1 faaor @ ¥R ©
(i) UETE WK I AT W =TI ¥ 5,000
(i) Yol AfSE H 90Hd W I T 10,000
(i) veell Afsir & fmior & fow =

WS | Z 25,000
(iv) Wife®w R FRUTAH #T & PEaE T 8,000
v) T & 0 & fau sd=/ @

w3 - z 1,000

Y fAER a8 2018-19 & fow W gy ¥ sy =

AT SifSIT |
IC-131 (14 )



L
L1

g. Explain the meaning of business and profession
according to Income Tax Act. Which income are

taxable as profits and gains from Business oOr
Profession ?
s sfufie & SER SR St I W e T
ﬁﬁtuﬁqﬁmwaﬁwﬁﬁaﬁm%?ﬂﬁ
& ofarfa w@TE ¥ ?

Part-E .

(ST1-B) 1x10=10

9. Mr. Rajeev purchased a house in 1982-83 for

% 3.40,000. He sold it in July 2017 for ¥ 65,30,000
incurring an expenditure of ¥ 30,000 on account of
brokerage. He purchased a new house In November
2017 for ¥ 27,00,000 and deposited T 2,00,000 1in
Capital Gains Account Scheme (CGAS) in February
2018. Compute the amount of capital gains taxable
for the assessment year 2018-19. CII for 1982-83
109, 2017-18 : 1125

MC—1 31 (15) Turn Over



st Tsita ¥ 1982-83 ® T 3,40,000 H TH HHM @ |
g3 9 WHM gemd 2017 § ¥ 65,30,000 H a9 fean
fawmg W T 30,000 =F gATI AT 2017 # IEA
Z 27.00,000 § TH T FEA @OQ AR T 2,00,000
4t T s A # wEd 2018 # W R
F-fauftor ad 2018-19 @ fow ww@rg s @ &
UM HIT | T TR g a8 1982-83 & feiT
109 a=r T« 2017-18 & faw 1125 T

D. Define the term “Dividend” as given in Income Tax
Act. How is dividend income treated under the
Income Tax Act ?

. sfufm § R g ‘e’ w B aftenfia
FIAC | @ T B SRR St B st S
agd fhar s & 2

0_131 { 16 ]
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Note :— Attempt all the questions as per instructions.
gt gy FEwER i
Part-A (¥TT-3))
1. (A) Choose the correct answer .

el ST R 9EA I

(i) Tax is paid not on the Goods but for

other. (True/False)
< o W A, T s W) fem S g
(Feq/ 59 )

(i) In the event of captive consumption the
evaluation of manufactured/produced goods
is made at ................. of cost price.

CA-847 | (1) Turn Over



(ii1)

------------

under excise duty 1S

Amount recc—:ived
ernment and

distributed among State Gov
Centre Govt.

(iv) Central Sales Tax is a/an :

\—847

(a) Personal Tax

(b) Direct Tax

(c) Indirect Tax

(d) Expenditure Tax

F fopl W T

(37) Al Y

(|) TAag &

(g) sAgaa i

(%) =1 *

There is discount for importer n importing
process under Green Channel.

(True/False)
| (Heq/39cd)

(2)



) (vi) Central Sales Tax 1s mnot applicable on
: Exports. (True/False)

=t fagt &t faf@ | A ¢t B
(Eca/3AEA)
(vii) Sales Tax Registration Certificate is issued

on Form ......ccceoiiesanns ;

gt FT GO GHO-TH HIH e
w W fEa ST ¥
(viii) CST is implemented by Central
Government and collected by State
Governments. (True/False)
Hugd. B TWER g HEitEd e
ST & ol e wER W I S €
(gea/3FH)
(ix) For the calculation of VAT India uses :
(a) Subtraction Method
(b) Addition Method
(c) Tax Credit Method
(d) All of these
3o &t A # fog e # fafu S
EIGII
(31) w2 @l fafy
() e =t fafy
(§) X 9w fafy
(3) 3 a4l

847 (3) Turn Over



(x) Central Government can exempt the #

payment of Service Tax. (True/False)
%ﬁmxmmzﬁmﬂﬂaﬁnm?itﬂ$ﬁ%n
(HEHSEEﬂ}

1%x10=10

B) Give answers of these questions with 50 words :

Frfafgg W ® IW 50 = H gifee
(i) Explain Wholesale Dealer under Central
Excise Duty.

F=Tg IAE YEH H e e e L T L
HITeTT |

(i) Define Margin of Dumping under Custom
Act.
@ e afutm & siwia ST @
Hifs @l GAHST

(iii) Procedure of Voluntary Registration under
HP VAT Act.
. §e wfufae & oFwld ST
TSIt {ol i Uishan|

(iv) What is Turn-over under CST Act ?
;iQHEﬁ.Sﬁmﬁﬂq7ﬁ?ﬁﬁ'ﬁﬂﬂﬁﬁ co IR0

?

(v) ‘Explain about Goods under Central Excise

Duty.

Eﬁﬂqgﬁﬁ?ﬁﬁiiﬂmwm:nh;ﬁﬁm
4x5=20

—847 (4)



Part-B (W -9) 10x1=10

2. Explain the following in the context of Central Excise

Valuation Rules, 2000 :

(a)
(b)
(©)
(d)

Rule—4
Rule-5
Rule—6
Rule—ii;

frafafea |1 S5 IR HediRd 9, 2000 &
SER AT Hitsw

(1) fAam-4

(@) fam-5

(|) fa=-6

(g) fr=m-8

Or (37erd)

Compute the Assessment under Central Excise Duty

from the following :

Cum duty selling price

(Exclusive of sales tax) < 20,000
Rate of excise duty 10%
Trade Discount < 2,000 [‘
Freight 3 1,000

CA-847 | (5) TurnOver



fFefafad
S HIC -
-_g'g—qﬁ farsht Hed
(fag w & ST ¢ 20,000
S I 19%
el §os T 1,000
' Part-C (WTT-8) 10x1=10

3. Describe the different categories of officers appointed

under Custom Act, 1962.
dr ye afufEm, 1962 # fafu= wwR # Sfordi

§ fage sfuefdl & fasga aviH Hifsl
Or (3794)

Explain these under Custom Act, 1962 :

(a) Bill of Entry

(b) Shipping Bill

(c) Baggage

(d) Private Warehouse
frefafaa =1 @ gy sfufaad, 1962 & AFIER
e Hﬂﬁﬂ'& g

(a1) fam afe wdi/vaw =1 faa

(@) fafim fae

(9) Wi gWE

() st wers

CA-847 (6)



Part-D (¥9T1-T) 10x1=10
4. What do you mean by Inter-state Sale ? Explain its
main ingredients in detail.
HAR-T fort =01 § 7 wae gEA G/eagdl &
U ST |

Or (3794)
From the following calculate the tax payable under
CST Act (Sale amount is excluding tax) : (3)

Sales to Govt. (State VAT Rate is 5%)  2,10,000
Sales to Unregistered Dealer

(State tax is 5%) 2,00,000
Sales to registered dealer on. form C 3,00,000
Sales of undeclared goods to a

Registered Dealer, not mentioned 1n

certificate (State tax 1s 8%) 30,000
frefafend & ER S famt & AU g &
S & Torn wifsw (fast uf W BEHL) ¢

)
R 1 W e famr uf¥
(7o fast =1 & 5%) 2,10,000
STt e w1 w1 e fawi ufw
(7= Tt =X X 5%) 2.00,000
sftd = & H M ekl T
wH H W 3,00,000

s HIe &1 faset Tfer S OSisd
= #1 fa ®H % H TR

(TsF L T 8%) 80,000

CA-847 (7) TurnOver



Part-E (MT1-3) VRIS 10

s Define Incidence of VAT Tax. Explain the provisions

of HP-VAT Act in this context.
S w7 3t geqr &1 90 HIGC FE EH H wE -

4o sfufraq & TEYA B Seor@ it |
Or (gan)

Explain in brief the following :
(a) Explain conditions claiming ITC.
(b) Explain the penalties for Non-payment of VAT

Tax.
(¢) Procedure of interest calculation on delayed

payment of Service Tax.

(d) Name any seven service activities covered under
Service Tax Act, 2007.

frfafeas +1 dfea avfw =ifse .

(¥7) ME2LHL TN wA gt Y6l w1 e FHifs |

() 32 # S T HH W WS F I HHT

(9) a1 & 30 ¥ 991 %0 W =N # T H1
CARREAT

() i W e frmel @ T awEd W A
sfufifam, 2007 & srwta s ¥

CA-847 ' s



